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(a+ b)>=a’+2ab +b2=(-a—-b)?
(a—b)2=a’—2ab + b?
(a—Db)(a+Db)=a*-Db?
(a+b+c)2=a’+b*>+c?+2ab+ 2bc + 2ca
(a+b-c)?2=a’+b*+c¢?+2ab—-2bc—2ca
(a—b+c)?2=a’*+Db*+ ¢c?—2ab—2bc + 2ca
(—a+tb+c¢)?=a’+b?+c?—2ab+ 2bc - 2ca
(a—b—-c¢c)?=a?+b?+c?—2ab+ 2bc - 2ca
(a+b)’=a’+Db*+ 3ab(a+Db)
.(a—b)*=a’-b*-3ab(a—b)
a® + b’ =(a+b)’ —3ab(a+b)

=(a+Db) (a?—ab + b?)
12. a* — b’ =(a—Db)’ +3ab(a—b)

=(a—b) (a? +ab + b?)

13. a +b*+¢* —3abc=(a+b+c¢)(a?+b*+c?—ab—bec—ca)
ifa+b+c¢=0thena®+b*+¢c*=3abc
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Q1.If x +£ = 5 then find the value of .x? - lz

X
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~ =194 then find the value of x°- et







Q41fa=v7 + 2V12 andb= V7 — 2V12 . then (a*+b") is

equal to




V3, then the value of x3+£ IS
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Qo.If — + + =1, then find value of + +
b+c ct+a a+b

b+c ct+a a+b
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Q10. x +—=1 then find the value of x'" + —
X X
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QI Ifx+= = /3 then find x°%




QI2.If x!3 +y!P=7 13
Find the value (X_|_y_ Z)3+27 XyZ




x> +3xy+y’

QI13.If X=5—|—2\/g and x y=1, then find the value of

x*—2xy+y*
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Ql4. If x +y+z=19, x4 + yz + z%=133 and .X'Z=y2,then the

difference between z and X 1s




Q151 x* + x~*=194, x > 0, then the value of (X — 2)°




QleIfx =2 — '3 then the value of X3 — X~ 3is
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Q17.(x +y)3 + (y + 2)3= —(z + x)3, then x> + y> +

73 can be expressed as: ,

€) gxyz

(0) =(X + Y)Y + Z)(Z + )

X+ Y)Y + Z)(Z + X)
(d)3xyz




QI18.If x 1s real, and x* — 5x?% — 1= 0, then the value of

6 2 3 1 .
(x° — 3x“ + 2 76 + 1)is:




QUIf8Xx+Y)y3-(x-WW"3=x+3y)Ax*2+Cy "2+ Bxy),

then the value of (A — B — C) is




O-If 8a+b)*3+@a-b)~3=3a+byAa 2+ Ch 2 +Bab),then the

value of (A + B — €) is:




Q21.If X = (\/5—\/3 /\/5+\/3) and Y 1s the reciprocal of X, then what

is the value of (X "3 + Y 3 )?

(a)504
(b)476
(c)488
(d)472




Q211f(3x H3+Adx-3)"3+2x+1)*3=33x-1)4dx -

2x+1)and x #1 /3, then X =2




= Q22.Ifx"2 — 3x -1 =0, then the value of
(x"2+8x-1) {x"3+x(-1) } A(-1) is:




Q3.1tX2a=Y*2b=Z *2c Z0and x 22 = YZ, then the value of (Ab
+bc+ca)/bc is:




Q241If X -y =4 and X "3 — Y *3 = 316, then the value of X "4 + Y* 4 is:










_ X=Y. 5
And xy=1 then find the value of ( )

o Y




42%Y =4**Y =/ 64 find the value of x










T2 + b+ ¢ =0 then the value of the

aZ /bc +b? /ca + c2/ab




(1) 3a® b% ¢’

(2) 9abc
(3) 27abc
(4) 9a° b? ¢’
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If x = V3 + V4 + /5 then

X4 —8x3+ 8x2+32x =7




then (a*?+1) /a?t="?
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If x =(1/~5-2) then
X4+ 16x2—=8x3="7?




_(1/V5 ARUEN
—5x2=14x -3 =7




fx + (1/x)==1then
X50+x51+x52+x53+x54+x55:’?







